Setup to calculate max flow (end pressure = 0 bar)

66mm internal size equals 75mm diameter
35,4mm internal size equals 40mm diameter
900’0," 55,8mm internal size equals 63mm diameter

N5, 150,0m
0.0 bar.g@ 0.0m

P
4, 55,8mm, 1000,0,
il 30 Sommer houses @70m

N7, 70,0m
p=0,0000 bar.g

= 12 sommer houses @100m

N8, 100,0m
p=0,0000 bar.g

Result max flow
12 houses get 2,1 1/s
38 house get 3,872 I/s

66mm internal size equals 75mm diameter
- P3 ¢ 35,4mm internal size equals 40mm diameter
" 155,975 55,8mm internal size equals 63mm diameter
N5, 150,0m
0,0 bar.g@ 0,0m ~g
0,0000 bar.g N6 110,0m \ T P4 f=3'872
0,2603 bar.g o G 30 Sommer houses @70m

@<

N7, 70,0m
p=0,0000 bar.g

\@}? 12 sommer houses @100m

N8, 100,0m
p=0,0000 bar.g




Setup to calculate pressure at estimated max flow rate

Setup for calculating pressure at max required flow rate

N5, 150.0m

30 Sommer houses @70m

3,800 I/sec

12 sommer houses @100m

N8, 100,0m
1,200 l/'sec

Result for pressure at estimated max flow rate

Setup for calculating pressure at max required flow rate

-7772'""77 __ff' f:5,000
N5, 150,0m
0,0 bar.g@ 0.0m

asa kg N6 110.0m °

P4, f:3,800
30 Sommer houses @70m

1,2505 bar.g
N

) N7 70,0m
7
1,1375 bar.g 3,800 I/sec

12 sommer houses @100m
N8 100,0m
1,7821 bar.g

1,200 I/sec



Setup to find max pressure in system with no usage (0,001 |/s)

Setup for calculating pressure at max required flow rate

N5, 150.0m

0.0 bar.g@ 0,0m

P4, 55.8mm, 1000,
G 30 Sommer houses @70m

0,000 I/sec

12 sommer houses @100m

N8, 100,0m
0,000 I/sec

Result max pressure
7,8 bar @ 70m

4,9 bar @ 100m

Setup for calculating pressure at max required flow rate

P
5. 0,000
N5, 150,0m
0.0 bar g@ 0,0m
0.0000 bar.g N6 110,0m S P4, 120,000
3,9148 bar.g i 30 Sommer houses @70m

N77.0,:m\A

7.8296 bar.g 0,000 I/sec

12 sommer houses @100m

N8 100,0m

B 0,000 Usec



